Wireless Multimedia System
Quiz 3 (15 min), 2013
Professor Eric Hsiao-kuang Wu

Name:                                      

Student ID:                                  
Exercise Topic: Large Area Interference Problem
IEEE 802.11b uses the CSMA/CA protocol to share the radio channel in a fair way. However, we have observed that in some common situations in a wireless environment, the method results in a considerable performance degradation by the Figure 1 and Figure 2.
(A) Can you offer the reason for the 802.11b large area interference problem?

(B) Can you offer a solution for the 802.11b large area interference problem?
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Fig. 1. Effectivencss of RTS/CTS handshake when d is larger than
Ty Rep and smaller than Ry,
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Fig. 2. Effectiveness of RTSICTS handshake for TWO-RAY
GROUND model and SNR threshold as 10

























